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Solve the follwoing systems of equations using Graphing
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3. Determine the solution of each linear system.

a) -+ yl= ',.*’ ¥ b) i
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a)

4. For each linear system, use the graphs to determine the solution.

Explain how you know whether the solution is exact or approximate.

¥
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X—9 y y— '2 4 y 4

This is exact

This is approximate

7.2 Solving a System of Linear Equations Graphically
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~
5. a) Solve each linear system.
i) x+y= 70
Ix+4y=24 Q
(1) X +y =T (2) 3x+4y=24
y=-x+7 4y = -3x + 24
m= -1 y=-3x+6
4

y intercept = (0,7)
x intercept = (7,0) m= -3/4

a) i) x=4.y=3 y intercept = (0,6)

x intercept = (8,0)
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Let's try graph by using y=mx+b

Plot \inleceept
. -\ 2
Solve each systenylly graphing. Wse . bz.'b ms 3
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Worksheet Solutions

Solve each system by graphing.

1 =2x+4 3
)y . 2) y=—-Zx-3
y—EJt—Z ]2
r=—x+4
¥ 4‘
K
4 i ] X
1 X
[H. 4 .
W
(-4, -4)
(—4,3)
3) y=-2x-3 4) y=-x+4

y=2x+1 y=5x-12

-1,-1) (1,3)
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3
5) y=-x-2
I v 2%
1
=——x+2
4 2
.
M
(—4,4)
2
7) y=-Sx-2
)y P
B
==—x+4
! 3
-

13, —4)

(4,2)

1
) }'—;xtE

y=4r-4

(2,4]
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9]0—1—%;—3%@ y=-1/4x +3
4y -4 +3x=0 y= 3/4x -1
by
A
o i = E 2 0 x
"
epat
2]
(4,2) —
1) —])-—4; g YT axd
0=-2y-16-x Yy=-1/2x-8
by
AEIEAENE 175"
¥ (2,-9)

(2,-9)

100) 0=3y—x+6
0==3y-x+12

y=1/3x - 2
y=-1/3x + 4

(9,1]

12) ~4p=-Tx—20
—y=-9=0

(9,1)

y=T7/4x +5
y=-9

¥

#

(8, —9)

-8, -4)
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13) 2x-Ty=—42 Y=2/7T X-6 1y 2e-3p=3 Y= 213%x-1
2x=Ty=56 y: 2/7X+6 x+9y=-72 y:-1/9x_8
L] g g @ L [ 3 B px
Mo solution (-4, -7)
Mo solution (-9, -7)
15) 13x+9y=-63 Y~ -13/9x-7 16) x+y=-5 Y=-X-5
249y=36  y=_2/9x + 4 Bx+3y=15  y=-13/3x-5
] 5 -
A =
0 ETNET B i & E [k 1y
'ﬁ - !
9, 6) (%, -s)

(~9,6) ' (3,-8)
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Solve the follwoing systems of equations using substitution

O 3x +4y = -4
OR)+ 2y = 2 =, @x=-2y+L
@ L_gl K \l’Su\o'.?\-\oQ)
0 /+‘*b=‘L\
3(’3-\- -I-"QS‘L“‘-)
"63 +b +:b:""

J=5
'\?0\ n¥of inkrsedng J sub RN C)

(- 8, 5) * :_-236;»7:1
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Method 2: Substitution

| like this one better

7.4 Using a Substitution Strategy to
Solve a System of Linear Equations
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There are a number of different ways in
which to solve systems of equations. The
second method we are going to look at is
called substitution.
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When we refer to solving a system of equations, we
want to solve for a numerical value for one
variable.
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Rules for Substitution as a method for
solving a system of equations.

e There must be the same number of equations as
variables.

- If there are two variables, there must be
two equations; three variables, three
equations, etc.

e One of the equations can easily be substituted into
the other equation to solve for one variable.
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You try with Substitution
Solve the follwoing systems of equations using substitution

§)-3xX=5_ Y=
yFxX=3
@y%x_,

@y:3>'-‘\' D)

(GxtS)he=3
Y4x+5=3
Yx+5-56=3-D

”a
ol
=0.5

=%t
@Y ’>('O X5
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Solve the follwoing systems of equations using substitution

xX=-2y+5
%Ly ;9 -x-!-l\, =5 "’)Hlnt Get r|d of fraction by

multiplying by LCM

é‘; %V"% '-?®'3""‘J =" @u‘o it @

(-9 =-

-2y*s <Y ] -I-s

' e

f?o\!\.)t of tadersedrion m
(,2)
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i) x—y=—1
Jx+ 2y=12

(1) x-y=-1
y =x+1
m=1
y intercept = (0,1)

x intercept = (-1,0)

i) x=2,y=3
.\V
' 63x+2y=12
4-
(2,3)
L2
x—y=—1/ p
0 2 A\

December 11, 2019

(2) 3x+2y=12

2y =-3x+12
y=-3x+6

2
m= -3/2

y intercept = (0,6)

x intercept = (4,0)
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iii) 5x + 4y =10
Sx+ 6y=0

(1) 5x +4y =10
4y = -5x + 10
y=-5x+5
4 2
m= -5/2
y intercept = (0,2.5)

X intercept = (2,0)

i) x=6,y=-5

y

2_*4}&10

(2) 5x+6y=0

6y = -5x

m=-5/6
y intercept = (0,0)

x intercept = (0,0)

December 11, 2019
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iv)x+ 2y= -1
2x+ y=-5

(1) x+2y=-1
2y =-x-1

X =

y=-1
2

1

2

m=-1/2

y intercept = (0,-1/2)

x intercept = (-1,0)

iv) x=-3,y=1

December 11, 2019

(2) 2x+y=-5

y=-2x-5

m= -2
y intercept = (0,-5)

X intercept = (-2.5,0)

(:;?$\\\_
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b) Choose one linear system from part a. Explainthe meaning of the
point of intersection of the graphs of a system of linear equations.

The coordinates of the point of intersection represent the solution of the linear system.
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Questions: Y, 5 9, 9

q%@g:q'-x b) K:\i—‘
® aAx +33 =i 37(*3 =\l
QY.*?)':) =1\ 3(3_0 -y 2\l
ax+3(2-%) = |

AX + AF -3 % = |

33~3 = 1
-xX +27F = 11
Ay = 11 +3
-x = \W-23 2y =\Yy
-”x:‘:"'lb 5.‘;}
X=lb
K=
Xz 3~
Y= 9-% :
\3:?“‘
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A+ YW= -0 S s
l("“")) ty=-io 335-\-(1(*3) =3
4 +ay vy = ~io et

3 L\x:.‘-]
Y = -0 -1y
‘X’:ll
3'3:» =24
3:‘8 3:)(-‘-3
Y = 1+ 3
X= 73ty ,
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5)3Qx +34 =

@ Yyx -y =-13

@ "l“x~’~3 = -3
=4 = ~4x-13
Yy = 4x+ 13

Subsitu¥e into equEhion |

2%*3\3

i

|
2x +3 (Mx+13) =

AX + 1A% + 39 = ]

X 439 -4
4% = -39
4x: -2%

Subsi tute back inte 4o see kb Y=

W= Ux 413
y= 4(2) 413
L) = -% +13

QO‘{‘K L
@ AX *3y = 5

® iXty =-5
(5:. ~4x -5
&X+3L3 =5
ax+ 3(-Yx-5) =5

AX = 1dx+ 15 =5

~10x +i5 =5
-l0x = 5-15
-lox=z -io

=1l

Suhwwl%»-ﬁd‘;-""
A nelek &‘“‘3’
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C) ®7<+Qj =13
@QX ——33: =1
® Xfa\j = l3

Suky i %M’h&
3%-33 :.-(i

L (-9’\3.“3) ‘35 = =5

& ‘i«j + Ak =34 -9

":}3 +ab = -q
~3y=-9-20
a-:',‘:‘}: ~35

b x
X= -3y +13
X=-2(5) +13
o= -—’I() t13

December 11, 2019

HOsx+y =%
©5'x+33 =13

@ 37(%-5 =3

Sullr unle %»o;ﬁ&\«a.

S)C+Qt3;l3

5x +2, (-3x -\’k) =13

5% = lox +14 =13
TR R =g

-x = 13~iy

3
4= -3x+3
4= -301) +%
S A an
= -y
X=l | y=-y
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g
cé_;c_-:s:?_

bx _by _ 10

3 —

Ax -3y = |2
®2X-—35 =) ‘2

) 16x +C13:_;\2_

@ i 8 -3&5 = 12

,:3, :
‘x ?3 \'(o'

Sudr vnike oo 2
|0‘Y,+ ‘]%; WA
o (—‘%5 +‘o) 9y =12

30 '
_2,__3““0 +q3 12

15\'.3 ko *Cls = = ]
a4y = 12 -0

2432 -Y4¥
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Noos  suis GESL

X:%gib

Xz 2 (2) 40

X = =k
2t

X==3 +¢
X= 3
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q) AX + 2y = -4

2 (x e ‘Z>

X+y=-2

5 ©

B +5 ==

® ‘X.i-‘j -2
X:‘j‘L
W ks @
-3x+3 =~
“3(4-2) +y=-6
3y 16 Yy z-p
'-h:)-i-(a = -b
4y = -12

g -3

-12% -\-1\32 =24

y ("%){. +ij: -Q,)
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'@G}F-i—n: 1 36

= (\8(9 -n} =9y

h~\8(¢’+n = 9K

an =8¢ =9y
In =94 eg
IN= Q%0
Nn= lyo

@) =z 1%b-n

r< ¢ 6 - (190)

December 11, 2019
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“) ®Qi + AW = 5Y4p

LS

@ l-m =90

Q} a4+ dw =54p

Q(‘i()w.)) +3w =540

130 +300 4 2, =54

e e s
L(w:Sﬂ{Q_‘XD

Yoo = 260

=9 43
X=90 + 90

L= 190

|

December 11, 2019
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‘LO'P ta = 85
®

Ol ptroldaz B8

@ pta =%5

@ O"(OP "_O'L‘C\:Sg

O‘(L) ('C\*SS) "f'C)qQ =39

“0.ba +51 +0.4q = 3%

December 11, 2019

@ Mﬁw&;\ P
P = -a g5
Pes(5 s
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@ @
sEb o eEy i . S iy
ICi> &"*3\34 “X”'%_S“'Z_
6(—‘-X+.’: s T -%y =5
2 3 Y ) \Z(q 5y /L>
G B e 12 x i2
b il =
2 39 4 Sl e
® 3x + Uy =
L:A—\& @ 2-743:30/
;; ThCSQ are New the
~ New "5‘-\| :
3xz -yt
‘Xz—g + 9
Nows Sl Ay ”\u&%t}_@\ H#
31—'1-]\3:30
(Y 42) .y
=)
%3‘\3'*6 445:30
g j MQ@MS:"3 inky
B ‘:\+“? wl‘ = 3 S
N =30 L8 %‘:}*Z
-8 +b =30
: ey
“x%:goqo
X= 1 +
8y = 2y ’—Sl .
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